0.9

-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

< dcot() >

0.05

................................................

................................................

0.9

-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

*— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

10

80

<90 dxy > (um)

60|

40

20|

Ratio

09

-1 0 1 2 3
TP n (PCA to beamline)

< op/p > (%)

-0.5

SETENE
300 T O O
200 T R T
E ] ] .i. ] ]
b

10 1 2 3
TP n (PCA to beamline)

10

< 8d,> (um)
o

0.9

=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


